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“Providing that / Provided that/ As long as *’

1) We will erndicate corruption providing that governments punish corrupt people.

2) We will erndicate carruption provided that governments punish corrupt people.

3) We will erndicate carruption ns long us povernments punish corrupt people.

spdeahall lad da pSadl 4l Bty Sl o pLaill aubind (]

“"Providing that / Provided that / As long as " ——> “'¢ld,a”
We use ** Providing that — Provided thal — as long as™ 1o express the Condition

A=\ ¢ padll ¢ Providing that / Provided that / As long as ¢ Jaxiud

1) We will erudicate corruption providing that povernmenis punish corrupl peaple.

Future Simple (Verh)

Present Simple (Verh)

I'roviding (that) governments punish corrupt people , we will eradicate corruption.
- ]

ALl e B uad o Cliat ™ AalSl o pURLLY) LikaSy AlaSle

1) The country will prosper as long as we fight corruption.
| ]

Result Clause

Conjunction

Conditional Clause

The Fulure Simple

(Verh)

Provided (Lhat)
Providing (that)
As long as

The Present Simple
(Verh)

2) As long as we light curruntiun , the country will prosper.

Conjunction Conditional Clause | Comma Result Clause
Provided (that) The P'resent Simple The Future Simple
I'l"ll\'illi“ﬂ ‘I'“", “'url]] l 5 I {\Fﬂrll]

As long as

Caileatl Gy Aol png oy 4 Llaall Ay 3 1 520 2 gl il Lesie 2 AKIA N
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Activity One: Combine the following sentence pairs using the conjunction in

brackets, making the necessary changes.

1) a) 1 golo university. (As long as)
b) 1 get my BAC Exam.

2) a You can’t drive the car. (Providing)
b) You are 18 years old.

3) ) She [ails the exam  (Provided that)
b) She does not revise her lessons.

4) =) Idon’t go out this evening. (providing that)
b) | can watch my best movie,

5) ) Youcan't be adoctor. (as long as)

b) You are very good al sciences,

Activilty Twio: Read the sentences and deelde whether they are **Carrect'” or **Ineorreet’’,

1) Providing that it does not rain, I will go out.
n) Correct
b) Incorreet
2)  As long as you will eat junk food, you put weight on,
a) Correct
b) Incorrect
3)  You can drive the car provided you drive slowly.
a) Correct
h) Incorrect
4)  Providing that you will ask me, you will 1uke my car.
i) Correct
h) Incorreet
As long as povernments will pass severe laws, corruption will decrease.
1) Correct
b) Incorrect

IJ.
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“* Wish ¢’

1) I wish you stopped smoking, SOl Ui g5 i) gl S
2) I wish I were a rich man. e Gladt S ¢ A

7 We use *’1 wish™ to express a Regret aboul a Present Situation
that is Impossible to Change.
CSas ¥ (Al g el CE gl 2 dadny oF palll 0 paadll ] wish™ Jasdad -
(1 wish 2 Jadll ) 9h 4581 30 (a AY £ phl) ANE ALaal) (565 5 L8 485
I + wish + (that) Subject + Verb (Past Simple)
Aladl A lgeiagaie g Y LS Wl B e y ity ((hat) 4alsl Ladly -
1)T am very Fat now. I wish I had not eaten too much.
2) I did not pass the exam. I wish T had followed the advice of my
teachers.
» To express a Regret about the past simple, we use:
@ 1 wish® Sy Jadll il o lall (e gz g flias 08 paill 06 aadll ARa A
1 AN Alaadl 01585 9 "The Past Perfect™ sl alalt
Subject + wish (that) + Verb (the Past Perfect)
1) I wish I would meet my friend tomorrow., 12 ey Al of )
2) I wish you would stop talking. Sl o i g gl |l
~ To express a uture wish we use:
G983 Jadll g “would’ Lalsh ] wish™ day Jasiud Jiiaadl A 4 o juaill
1AL Alaall 1355 g Stem'® i ea 2
Subject + wish + would + Verb (Stem)
2 PLA o (Past, Present , Future) 4881 g 9 Gu @i LSy 1aliadla
Alaali 23393 a0 (The Time Markers) Gl dig b JA Ga gl Alaall
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Activity One: Chaose *a, b, or ¢** nmd complete the following sentences.

) 1don"t haveacar.Iwishl ... .. ... a car.
m) have I having ¢)

2) Iam at work ripht now. Lwish 1 ........................ [ree.
i owas h) were ¢l been

3) He was absent yesterday. He wishes that ........................ present.
al haud ) was ¢) hund been

4) It is too cold outside. 1 wish it ........................ warm.
HURTHE b) heing ¢ ) land been

5) She can”t drive the car. She wishes that she........................the car.
a) would drive b can drive ¢) could drive

6) The Nowers are dying. T wish thatie ... ..
a) rained 1y) raining ) will rain

Activilty Two : Complete these sentences using "would / wouldn't*.

1) I wish people........................ protect and feed the animals.

2) I wish people ....................... cut ofT trees anymore,

3) I wish my students........................ [inish their homework on time.
4) I wish my mother........................ cook pasta. 1 love it !
S)Iwishpeople ....................... pick the Nowers.

6) 1 wish people ........................ give hribery anymore.

7) I wish governments ............ccooeeeennes jail corrupt people.

Activity Three: Complete the fullbwing sentences using the past simple [ the past perfect.

1) n) I am shy.

by I wish that I S
2) u) [ found the test very difTicult.

by I wish .. , i panait
3) u) She went out without an umhrella,

h) She wishes

4) 20 1 have too much work to do now,
e ITwish_. . .
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* Should / Ought to / Had better

“*Should, Ought to, and Had better® are Three Modal Verbs used to give
Advice and Warning.

222l gl dasail ¢ el “'Should / Qught to / Had better’ Jatud -

Modal | Affirmative (+) Negative (<) | Question (7)
Should Subjeet + should + V Should +not +stem | Should + Subject +
(stemn Stem
Shoulidn’t + stem
Ought to | Subject + ought (o +V ought not to +
(stem) Verh (stem)
Had better | Subject + had hetter + V| Subject + Tad belter —ttanesrtrerase
(stem) +not + Vistem)

“Ought to/ Had hetter™ don™ have The Interrogative Form (Question Form)
Jad £ b 8 e gl ¥ < Qught to / Had Better™ -
 We use “'should / ought to"* to give Advice or an Opinion

Sl 1l gl Aasadll ¢p jaill Laglaniedi “should / ought to** -
1) Your grades are tao weak. You should study hard,
sl et flanal === i1 Al dlle Aias Sl .

2) You vught not to wateh TV for too much time.
sy el f dagal —— bl i ol UL LG Y ke

1) You had better drive the car slowly.
2) You had hetter not waste your time playing video pames,

< We use had belter to give udvice, I one does not follow this advice
there will be a problem / a dunger.
o ey Lasalll o34 FLSY pie Ala 3 081 ddauas slee Y “Had better® Jadud -
wadlll bl gl Jei,
“Ilad better, ought to, should** 2 (Verb Stem) jtaall Joill g Lajls ;4Babla
i pan pE 38 Jadll gl
05
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Activity One: Choose *"a. b, or ¢”' (o complete the following senicnces.

1) Youshould .. ... . ... right now, It is too carly.
al going h o cl wenlt
Dihadberter ... .. bumnot feeling well,
a) nol 2o ol i) dlon™t going out ¢) go aul nol
3) Yououghtto ... ... ~ I NW Car.
al to buy hi buying c) by
4) Wha e Pdo now? Fam lost!
a) aught o I} hientd hetter ¢) shonld
5) She had better ... ... ... this medicine now. It will help her reliel.
a) taking ) take ¢) tonk

Activily Two: Find the mistakes in these senlences. Rewrile Lhe seniences carrectly.,

1) He ought take him to the hospital.

2) You should to help people.

3) He has better do his homework daily.

4) He is ill. He ought o not go out this evening.

5) 1 had not better put hot water an the hum.

Activity Three: Complete Lhe followine senlences nusine the appropriste expression from Uhe Hst.

go to the doctor = leave now - not do that again - 2o to another the restaurant = take a
sandwich with me

11 | have to be at school in ten minutes.

|
21 You don't look very well.

You .
3) The restaurant is often crowded.,

We
4) 1 will not have time to go oul fur lunch,
5) I was very angry wilh you,

You
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“* Itis time / It is about time / It is high time”’

1) It is time vou revised vour lessons.
2) It is aboul time you revised your lessons,

3) It is high time you revised your lessons.

“*It is time / It is about time / It is high time** are expressions used to

to express dissatisfaction,

A ¢ a2l 1t s time / 1t is about time / It is high time*’ Jodud -
1S Aaad) 0955 9 ¢ Asna Ly 01 gl / L)

It is time + Subject + Verb (In the Past Simple tense)

“Itis time / 1t is about time / [t is high time' 3 Jaill a3 98 ¢ ahf rakinla
“The Past Simple®” dadl S2lall & 508 Lailay

Activity One: Choose the correct verb to complete the following sentences,

DIttimeyou ... . ... ... . fobed. Itis 11:30 pm.
a) go ) going ¢) went
2) Itis high time people ... ... . giving bribery.
a) Stopped h) stop c) stopping
3) It is about time rich people ... ... . the laxes.
a) Pay b) puid ¢) paying
4) Itis time governments ... lax evasion,
a) Fighting b) gl ¢) fought

07
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Activity Two: Re-order the following words {o get eoherent sentences.

1) 71t/ high time/itis/tobed / 11 pm/./is/ went /you /. /

2) /you/ It/ about /./studying / is / started / time /

J) / governments / It / high / Is /. / corruption / fought / time /

4) /to/ for a new / Itis / time / apply / job /. / high / for me /

5)/is/. 710/ wel had / high / dinner / time /. /is/ 179 pm/

Activity Twn: Complete the following senlences using the right verb from the list,

start / eat / inish / stop / do / speak / buy / clean

1) It's high time we

2) It's about time lo .

3) It's time you

4) It's about time to .

5) It's time you

6) It's high time my father
7) It's high time he

8) It's about time we

_ to home. It is too dirty.
to study harder.
to your parents about the problem.
. smoking,
your homework.
a new car. His car is very old,

less food, He is very overweipht!

v the project on time,
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> The Cause ¢ (sl

To express the cause, we use connectors / conjunctions and expressions.,

Connectors For, Because, As, Since

Expressions | Because of | due to, owing to, Thanks to

example:

1) I study hard bhecause 1 want to pass the flinal exam.
2) | missed the bus as [ gol up very late this morning.

3) Since he is too fal, he can’t run very fast.

Sentence 1 The conjunction Sentence 2

The Conjunction | Sentence 2 | Comma (,) Sentence 1

Eg: 1) Shecan’t go out right now because it is raining oulside.

Because it isTainine outside , she can’t go oul righl now.

Because can be replaced by: ** For, As, Since *°

The Cause Expressions: *'Because of / Due to / Owing to / Thanks to*’

Examples:
1) Because of the snow , the [lights were cancelled.

2) 1 got bad results due to / owing to the difficulty of the exam.

3) Thanks to his hard work , he got super results.

He gol stiper results  thanks to his hard work.

Thanks to/ Due to/ Owing to + A Noun Phrase
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Activity £Ine: Chonse **u, b, or " to complete the following sentences.

1) The police arrested him ... .. he broke into the bank last night,
u) heeiuse h) due to C) owing Lo
2) ... being oo busy yesterday, | couldn’t come,
nlous ) sinee ¢l due o
3) She gotbad results ... ... . his laziness.
al for h) due to ¢) heeanse
4) My friend was punished ... ... she laid on the wacher,
i) as ) due to ¢) hecause of
5) Ldidn’t Minish the movies ... It wasn't very enjoyvable,
al Owing in I hecause of ¢) heenuse

Activity Two: re-arder Lhe following words (o pet cohieren! sentences,
1) Because/./, Hm'c!IfynufIfmlta“l‘nr}nufdneumlungf

2) I'since/in/. /1 a' o0 luh. .\’ will /tohome l go [is/

k)| f Wc a“ duc tu .r' llu: h:u! wq:nlhcrf ::anccllcd :" . :' lhe wul-k.'

SN lhunlm mJ' / Sh-: Hu:r lnlt:llig-.nwf gmul marks / }_.nl /

r\rﬂuh Three:
A) Mateh the following pairs (o gel colierent senfenees,

A B
She phoned the police He is poing to Paris
1 didn"t have any lunch losing his wallet
He wanlts 1o leamn French | thought it might rain
Our plane was delayed | wasn't hungry
I look an dmbrella the fog
1) Match the pairs using: *"hecause [ heecanse of™".
1)
2)
3)
4)
5)

Scanned with CamScanner



05 puul
“* The Result ¢ (4a11)

We express the resull with connectors / conjunctions and expressions.

Connectors So, Therefore, Thus, Consequently
Expressions Asa resull , As a consequence,

1) I have a sore throat , so I will go to the doctor.
2) I went to bed late vesterday: therelfore / consequently, T did not get up carly.

3) He took the taxi. Thus, he arrived too early.

Sentence | The Result conjunction Sentence 2

15kl (Aasdl) al b 25 L

1 Iamvervbusy , so [can’twatch the movie now,

The Cause Clause Result Clause
LY Ll aal2a bl Y o1 Ll Jeida U] -
ot 5 Y < The Result Conjunctions® 435l e J6 A0 by 5l ;4daalla
Alaali by A 500 Laits M) Alaal) 230,
GiS Gadls U Jgaad) o i gl Gladle ) fal e Y Jul g )l 038 Jladidl dic
L Aalill il gl cladle e Jaul g 0 o3a pladzi)

. Thus therefore S0 byl 0
+ asaresult + Consequently +

as a consequence

. Thus, s conjunctions , , S0 i gll A3
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Activity One: Choase **a, b, or ¢"* to complete the following sentences.

1) Iforgot my password , = ... . ... . ... lcan'tlogin my Facchook account.
n) so b} therelore ¢) us o resull

2) Ilelt very tired 5. ... ... . ..o Lleft the party too early,
u) Consequently ) thus ¢) so

J) ldon*t know theway ... . ©wlltake a taxi.

nl So h) Thas,

4) There are millions of cars in theelty,. ... ...

a) S0 b) ; therelore ,

5) The earth is petting warm ... R

al So by Thus:

6) People are cutting treesofl . ... . ... ..

a) . as a result, ), so,

Activity Two: Join each pair of these sentences using the conjunction in hrackets.

c).asaresull,
¢) Asa resull:
the ice is melting.

c) : as i consequence,

¢) : consequently,

the air Is unclean.

wild animals are in danger.

1) There was too much nolse in the cluss.

I could not uvnderstand the lesson. (s00)

2) We couldn’t watch the movice last night.

The electricily wenl ofl.  (therelore)

3) 1 don't have any money.

Dan't ask me again (thus)

4) Paul had a lever.
He stayed st home, (consequently)

5) He can™ drive the ecar.

He always goes to work by car. {us a resully
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“*So ... that / Such .._.....that™
»So....... that:

Examples:

1) It was so difficult test that no one has got over 10.

2) It is so hot that I can’t sleep well.

3) I was so happy last night that I could not sleep.

S0+ Adjective + That Result

© Result’ 428l se pa SU Sy 4+ Adjective + that? Jaediud -

80 ..... that’* o= Adjective’ i gl Laila ;4laa

*Such ...... that:

Examples:

1) It was such a good match that all people watched.
2) Algeria is such a beautiful country that many people visit it.

3) It is such an expensive car that I couldn’t buy it.

Such + Adjective + Noun + that Result
* Result® 425 ¢e a3l S0 4+ Adjective + Noun + thar™* Jedui -

o= CAdjective + Noun 7 awb & e dda pudi Ll :4dia

“Such..... that"

SO veesee that so + adjective + that

such ..... that such + adjective + noun + that
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Activity One: Complete the following sentences with:

w0 /such*’

1) Itwas . ... ... rainy that ] couldn’t go shopping.

2)Mtwas ... . agrealt movie Lthat I repeated it many times.

3) My sisteris ..................._shy that she doesn't ask Tor food or lor drink.
A Thecarls . ... expensive that nobody could buy it

5)Sheis ... ... A kind woman that she has may friends.

6) This bookis .. ..........._ . interesting that I always read it.

7)Heis ... ... ... aclever boy that he speaks many languapes.

8) My Iriend was. ... ..........nervous that she did not speak to anyone,

Activity Two: Join each pair of sentences using **so / such ....that**,

1) 2) Jessica is a brilliant woman.
b) Everyone wants to talk to her.
2) a) I am very hored,
by T want just to sleep.

3) u) She has a great memory.

b) She is good al history.
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